Lecture 1, Chap 2.1 Rates of Change and tangents to Curves
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we want the slope of the ‘ranc_\en’r line to the
curve at Kz,3). let h=0.

M= slope of the tangent line.
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b. Estimate the instantaneous rate of gasoline consumptions at the
times t=1, t=4 and t=8

(et TAC= instartaneoys fate of consumption
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C. Estimate the maximum rate of gasoline consumption and the
specific time at which it occurs.

This problem is asking for the instantaneous rate of change at a
specific time.
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This is an estimate. The slope appears
to be steepest at this point of

tanqency,






